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QUESTION 1

You have a volume storing a large number of 1KB to 2KB compressed zip files. In this scenario, which storage
efficiency feature should you use? 

A. data compaction 

B. secondary compression 

C. adaptive compression 

D. deduplication 

Correct Answer: A 

 

QUESTION 2

When performing a manual MetroCluster switchover, which two statements are true? (Choose two.) 

A. Only the user specified DR groups are switched over. 

B. All SVMs in the disaster site are switched over. 

C. All DR groups in the disaster site are switched over. 

D. Only the user specified SVMs are switched over. 

Correct Answer: CD 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the output shown in the exhibit, which aggregate capacity is available for a volume? 

A. 4TB 

B. 8TB 

C. 3.4 TB 

D. 3.6 TB 

Correct Answer: A 

 

QUESTION 4

What are two advantages of creating small RAID groups inside an aggregate? (Choose two.) 

A. maximized storage space 

B. decreased risk of multiple disk failure 

C. shorter reconstruction time 

D. additional available spare drives 

Correct Answer: BC 

Reference: https://library.netapp.com/ecmdocs/ECMM1277794/html/smg/GUID-
EE30CDA9-095F-4DD19A29-BB9F0E55DB4F.html 
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QUESTION 5

You want to establish a SnapMirror relationship between two clusters. 

In this scenario, which two actions must you perform to accomplish this task? (Choose two.) 

A. Peer the nodes. 

B. Peer the volumes. 

C. Peer the clusters. 

D. Peer the SVMs. 

Correct Answer: CD 
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